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Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNSGNZNWlETXdSNHM?usp=sharingQUESTION 134Which

Cisco UCS Manager account is the default user account, which cannot be deleted or modified?A.    adminB.    superuserC.    super

userD.    rootAnswer: AQUESTION 135Which two benefits pf implementing multiple VDCs on a physical switch are true?

(Choose two.)A.    It simplifies the STP design.B.    allows a physical port to be shared among multiple virtual Ethernet switches.C.  

 It allows multiple logical switches to be created by using a single physical switch.D.    It allows each VDC to run a different version

of Cisco NX-OS.E.    Faults are isolated and contained within the specific VDC.Answer: CEQUESTION 136What are three

components of a Cisco UCS blade server system? (Choose three.)A.    Cisco UCS B-Series chassisB.    Cisco UCS C-Series serverC.

   Cisco UCS B-Series serverD.    Cisco Nexus 5548UP SwitchE.    Cisco UCS Fabric InterconnectF.    Cisco UCS C-Series chassis

Answer: ACEQUESTION 137Which two parameters can you apply to a user role rule on a Cisco Nexus 7000 Series Switch?

(Choose two.)A.    commandB.    interfaceC.    policyD.    featureE.    databaseAnswer: ADQUESTION 138FabricPath technology

uses which two types of ports? (Choose two.)A.    F PortB.    NL PortC.    E PortD.    edge portE.    core portAnswer: DE
QUESTION 139An engineer the UCS Fabric interconnects for network connectivity to the data center LAN and SAN. Which two

ports types need to be configured to allow traffic to Bow properly? (Choose two)A.    Ethernet uplinkB.    server uplinkC.   

applianceD.    Fibre Channel uplinkE.    Fibre Channel storageAnswer: ADQUESTION 140Refer to the exhibit. Which option is

discovered after L1 registers to APIC 1? A.    S1B.    OOB MGMT switchC.    APIC 2D.    L2Answer: DQUESTION 141Which

description of a contract is true?A.    It allows or denies communication between EPGs.B.    It defines communication by using

subnets.C.    It contains Layer 2, 3 and 4 policy rules.D.    It contains a filter and an EPG.Answer: AQUESTION 142You are

creating a workflow by using the Workflow Designer in Cisco UCS Director. Which three tasks are preconfigured in the workflow

by default? (Choose three.)A.    Physical Network tasksB.    StartC.    Service Container tasksD.    Completed (Success)E.    Public

Cloud tasksF.    Completed (Failed)Answer: BDFQUESTION 143Refer to the exhibit. Which statement is true based on the output

from the show vdc command? A.    The admin VDC is unconfigured.B.    There are four VDCs that can forward Ethernet traffic.C.   

The user is in the admin VDC.D.    Only the test1 VDC can forward traffic.Answer: CQUESTION 144Which two devices are

required when implementing FCoE? (Choose two.)A.    Ethernet switchB.    lossless Ethernet switchC.    CNAD.    FC switchE.   
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